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General Instructions

- 1. All ques‘uons are compulsory. : en : e vaio ey
2 The question paper consists of 4 sectlons A B C and D, '
Section A contains 6 questions of 1 mark each.
Section B contains 6 questlons of 2 marks each.
Section C contains 10 questlons of3 marks each
; Section: D consists of 8 questlons of 4 marks each.
3. 15 minutes time is allotted for reading the question paper..
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: 'Section A

ifsing = cos ¢9 find the value of 6? find the value of n

lfthe numbers n =2, 4n=1and 5n +2 are in AP, find the value of n
If P (E) =0.05, what is the probablhty of “not E'?

Write 70 as product of its prime factors.

What is the modal class of the followmg frequency dlstnbutfon? e
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| Age (in years) 0-10 | 1020 |20-30 |[30-40 |40-50 |50-60 .
Num'berofpatie'nts 16 "z 6 IR 15 GRER 6 - {
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6. Inthe given’ ﬁgure, the. graph ofa polynomlal p(x)i is glVen Flnd the zeroes of the
polynom:al ) :
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:  SECTIONB
| ) i LAB =2 AC
. isani :ancle, right angled at C. prove tha : T
e 21 e nqaoh i ftrisection of the line segment joining the

aints 0

to A. Find the coordinates of the other point of

8. Point P:(S, -3)is one of thetwop
points A (7,-2) and B (1,-5) _ne';;r

trisection. ;
9. Show that any positive odd integer is of the form4q + 1 ordq +3, where q Is SOME
integer; } * .
10. Solve using substitution method s .
x+y=14 -

x—-y=4
‘ | roots then,

11. If the quadratic equation (k +1) ¥ —2(k-1) x+ 1 =0 have real and equa

find the value of k
12. A quadrilateral ABCD is drawn to circumscribe a circle. Prove that AB+CD= AD+BC
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some red balls. If the probability of drawing a red

13. A bag t}ontains S blue balls and ‘
£ a blue ball, find the number of red balls in the bag.

ball from the bag s thrice that 0
14. Given 15 cot A =8, find sin A and se
15, Prove that the line segment joiningt
circle passes through its Centre.
16. The mean of the fo|lowih§‘fre’c§uency‘
fl and f;. ' 4 ; 'x e

he points of contact of two parallel tangents of a

distribution is 50.-Find the missing frequencies

t
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— - -[-Classes—{0-20- 5040 . | 3060 | 60-80 | 80-100 - -{-Total .

Frequency |17 f1 - 32 fa .- 119 120

17. Prove that3+ \/5 is an irratibnal number.

111

18. The su;rn 6fthe squares of two consecutive odd numbers is 394, Find the numbers.
19. The fo!towing table gives production yield per hectare of wheat of 100 farms of a

village.!
1

Production yield (in Kg/ha)

50-‘55‘ 55-60 | 60-65 | 65-70 | 70-75 | 75-80

12 |24 |38 |18

Number-of farms: W - 8

. ;;:hange the distribution to a more than type distribution and draw its ogive.
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20, Checl Araphieally whe
conslstent, Alsa fi th
maet they qulg,

ALy s and -y =5is

Beoordinitas of the paints where the graphs of equations

2L I the fgurs, o 1y

the Cantra of aclrce
G R T8 Jolnad, I of

such that diameter A8 = 13 e and AC = 12
Ind the aran of (e shirdled reglon,
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22, From a solld eylinder whose helght 15 2.4 cm and diameter 1.4 ¢m, a conical cavity of
thewsame halght and «

sime diameter is hollowed out, Find the total surface area of
the remaining solld to the nearest cm’,
f SECTION D
23, For what value of n, are the n™ terms of two AP 63, 65, 67, and 3, 10, 17,‘
Y al? i ;
24, ﬁ*/-\—(—;ljs“)(,‘:;d(h.l, -4), C (b, -5) and D(5,6) are the vertices of a quadrilateral ABCD, find
Its area, ' ’
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26. Draw a triangle ABC with side BC= 6 cm, AB=5 cmand ZABC = 60° Then construct a

25.1f cosee @+ cot @ = p thén prove that cos 0 =

triangle whose sides are % of the corresponding sides of the triangle ABC.

27, Prove that, if a line Is drawn parallel to one side of a triangle to intersect the other
- two sides in distinct points, the other two sides are divided in the same ratio.
Using the above result prove that A ABCis an isosceles triangle, if DE Il BC and BD= CE
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28. Rasheed got a playing top as his birthday present, which surprisingly had no colour
on it. He donated this gift to a child in nearby orphanage. Before donating he wanted
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